wﬁ I-BRD-C002 1/3

@-\ ASSEMBLY INSTRUCTIONS

PRODUCT IMAGE SHOWN IS FOR ILLUSTRATIVE PURPOSES ONLY, SHOULD NOT BE TAKEN AS REFERENCE POINT

INSTRUCTIONS (A) I |

@ TOP VIEW
e [
I

| PIER | PIER |

PIER

BRIDGE

LOCK WASHER
5/16"

WASHER
1/2"

INSTRUCTIONS:

1.- TO START ASSEMBLING THE WALL UNIT YOU MUST PLEACE PIERS AND STAND FRONT THE WALL WHERE YOU
WANT PLACE IT, TAKE CARE OF LEAVE A LITTLE SPACE BETWEEN THE WALL TO WORK BEHIND THEM.

2.- TO DEFINE THE RIGHT DISTANCE OF BOTH PIERS,INTRODUCE THE STAND BETWEEN THEM. ALIGN THE FRONT
AND BACKREST.

3.- WITH LITTLE HELP PLACE THE BRIDGE ON THE PIERS ALIGNING THE HOLES WITH THE TOP BRIDGE AND PIERS
TO SCREW THEM AS SHOW IN FIG. 1



@ ASSEMBLY INSTRUCTIONS
N, I-BRD-C002 2/3

PRODUCT IMAGE SHOWN IS FOR ILLUSTRATIVE PURPOSES ONLY, SHOULD NOT BE TAKEN AS REFERENCE POINT

INSTRUCTIONS (B)

IRON SUPORT

SOCKET
BUTTON
HEAD BOLT
5/16 X 2"

FIG.2

CARRIAGE BOLTS
5/16 x 1-1/4" |

efdshep?

= MW\
V’

HEX NUTS 5/16"

FIG.3

INSTRUCTIONS:

4.- HOOK UP THE IRON SUPORT ON THE BRIDGE TOP ALIGNING THE HOLES IN THE TOP AND SCREW AS SHOW IN
FIG.2

5.- PIN UP THE BACKREST SLATS ASK SOME HELP OF SOMEONE TO ALIGN THE HOLES OF THE SLATS WITH THE
IRON SUPORT AND SCREW AS SHOW IN FIG. 3.



ASSEMBLY INSTRUCTIONS

I-BRD-C002

6.- WITH HELP OF SOMEONE ELSE MOVE TO THE WALL THE PIERS AND BRIDGE PREVIOUSLY ASSAMBLED

7.-TO FINISH THE WALL UNIT PLACE AGAIN THE STAND BETWEEN THE PIERS.

3/3
PRODUCT IMAGE SHOWN IS FOR ILLUSTRATIVE PURPOSES ONLY, SHOULD NOT BE TAKEN AS REFERENCE POINT
| | INSTRUCTIONS (C)
TOP VIEW
@ STAND
= : :
3 : e
1 : ‘E=
HEX NUTS 5/16" [ 1 s 2
SOCKET dr '7_\ \j
BUTTON HEAD = 7 —
BOLT 5/16 X
11/2" II
LOCK WASHER i — Hl
5/16" J
WASHER
5/16" |
— ——]
— T 11
L : . HARDWARE
5 : DESCRIPTION #PCS
21 | $ : 1 CARRIAGE BOLT 5/16 X 1-1/4" 20
EE \/ —z-.N d WASHER 5/16" 2
2 SOCKET BUTTON HEAD BOLT 5/16 X 2" 2
r‘ HEX NUT 5/16" 24
SOCKET BUTTON HEAD BOLT 5/16 X1 1/2" 2
SOCKET BUTTON HEAD BOLT 5/16 X 1 1/4" 8
] WASHER 1/2" 8
ALLEN KEY 3/16" 1
LOCK WASHER 5/16" 10
UJ“\
INSTRUCTIONS:

8.- ALIGN THE HOLES INSIDE THE LATERAL DOORS OF THE STAND WITH THE IRON SUPORT ONES AND SCREW AS
SHOW IN FIG.4



	1.pdf (p.1)
	3.ENTERTAINMENT-Model

	2.pdf (p.2)
	3.ENTERTAINMENT-Model

	3.pdf (p.3)
	3.ENTERTAINMENT-Model


